

## CORRIGENDUM

A. SCHETT, "Properties of the Taylor series coefficients of Jacobian functions,"  
*Math. Comp.*, v. 30, 1976, pp. 143–147.

Equation

$$= 1 + \sum_{n_e=2; (n_e \text{ even})}^{\infty} (-1)^{n_e/2} \left( \sum_{h_1=0}^{n_e/2-1} b_{h_1 h_2 h_3} k^{2h_1} \right) \frac{u^{n_e}}{n_e!}, \quad h_3 = n_e/2$$

page 147, should read

$$= 1 + \sum_{n_e=2; (n_e \text{ even})}^{\infty} (-1)^{n_e/2} \left( \sum_{h_3=0}^{n_e/2-1} b_{h_1 h_2 h_3} k^{2h_3} \right) \frac{u^{n_e}}{n_e!}, \quad h_2 = n_e/2.$$

Equation

$$= 1 + \sum_{n_e=2; (n_e \text{ even})}^{\infty} (-1)^{n_e/2} \left( \sum_{r_3=1}^{n_e/2} c_{r_1 r_2 r_3} k^{2(r_3-1)} \right) \frac{u^{n_e} k^2}{n_e!}, \quad r_2 = n_e/2$$

page 147, should read

$$= 1 + \sum_{n_e=2; (n_e \text{ even})}^{\infty} (-1)^{n_e/2} \left( \sum_{r_1=1}^{n_e/2} c_{r_1 r_2 r_3} k^{2(r_1-1)} \right) \frac{u^{n_e} k^2}{n_e!}, \quad r_3 = n_e/2.$$